CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE:

September 10, 2024

PUBLIC HEARING DATE:

Not Applicable

CONTACT PERSON(S) NAME AND PHONE NUMBER:

Richard J. Bristol, Streets and Maintenance Director, (915) 212-7000

K. Nicole Cote, Managing Director (915) 212-1092

DISTRICT(S) AFFECTED: All

STRATEGIC GOAL:

No. 7. Enhance and Sustain El Paso's Infrastructure Network

SUBGOAL:

7.2 - Improve competitiveness through infrastructure improvements impacting

the quality of life

SUBJECT:

Discussion and action on the award of solicitation 2024-0386 Mast Arm Poles to Techline, Inc. for an initial term of one (1) year for an estimated amount of \$1,029,682.00. The award also includes a one (1) year option for an estimated amount of \$1,029,682.00. The total contract time is for two (2) years for a total estimated amount of \$2,059,364.00.

BACKGROUND / DISCUSSION:

This Contract will allow the purchase of Mast Arm Poles for various locations throughout the City Of El Paso.

SELECTION SUMMARY:

Solicitation was advertised on May 14, 2024 and May 21, 2024. The solicitation was posted on City website on May 14, 2024. There were a total twelve (12) viewers online; two (2) bids were received; none being from local suppliers. An Inadequate Competition Survey was conducted.

CONTRACT VARIANCE:

The difference based in comparison to the previous contract is as follows: An decrease of \$361,406.00 for the initial term, which represents a 25.98% decrease due to a reduction of items in the scope of work.

PROTEST

No protest received for this requirement.

PRIOR COUNCIL ACTION:

N/A

AMOUNT AND SOURCE OF FUNDING:

Amount: \$1,029,682.00

Funding Source: General Fund

Account: 532-1000-32020-532030-P3252

2024-0386 Mast Arm Poles

Revised 1/23/2023-V3 - Previous Versions Obsolete

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? _X_YES ___NO

PRIMARY DEPARTMENT: Streets and Maintenance Department SECONDARY DEPARTMENT: Purchasing & Strategic Sourcing

DEPARTMENT HEAD:

Richard J. Bristol, Streets & Maintenance Director

Project Form Low Bid

Please place the following item on the Regular Agenda for the City Council of September 10, 2024.

Strategic Goal 7 - Enhance and Sustain El Paso's Infrastructure Network

The linkage to the Strategic Plan is subsection: 7.2 Improve competitiveness through infrastructure improvements impacting the quality of life

Award Summary:

Discussion and action on the award of solicitation 2024-0386 Mast Arm Poles to Techline, Inc. for an initial term of one (1) year for an estimated amount of \$1,029,682.00. The award also includes a one (1) year option for an estimated amount of \$1,029,682.00. The total contract time is for two (2) years for a total estimated amount of \$2,059,364.00. This Contract will allow the purchase of Mast Arm Poles for various locations throughout the City of El Paso.

Contract Variance:

The difference based in comparison to the previous contract is as follows: An decrease of \$361,406.00 for the initial term, which represents a 25.98% decrease in price per steel.

Department: Streets and Maintenance

Award to: Techline, Inc City & State: Austin, TX

Item(s):AllInitial Term:1 YearOption Term:1 YearTotal Contract Time:2 Years

Annual Estimated Award: \$1,029,682.00
Initial Term Estimated Award: \$1,029,682.00
Option Term Estimated Award: \$1,029,682.00
Total Estimated Award \$2,059,364.00

Account(s) 532 - 1000 - 32020 - 532030 - P3252

Funding Source(s): General Fund

District(s):

This was a Low Bid Procurement - unit price contract

The Purchasing & Strategic Sourcing and Streets and Maintenance recommend award as indicated to Techline, Inc. the lowest responsive and responsible bidder.

It is requested that the City Manager be authorized to establish the funding sources and make any necessary budget transfers and execute any and all documents necessary for execution of this award.

In accordance with this award, the City Manager or designee is authorized to exercise future options if needed.



CITY OF EL PASO BID TABULATION FORM



BID TITI	LE: Mast Arm Poles									Soliciation	Nun	nber: 2024-038	
BID DAT	TE: June 26, 2024								De	epartment: Stree	ets ar	nd Maintenand	
		Techline , Inc. Austin, TX Bidder 1 of 2							Tri-State Electric, Ltd Vinton, TX Bidder 2 of 2				
Item No.	Description	Unit of Measure	Minimum Approximate Quantities	Maximum Approximate Quantities (A)	Price (B)		Yearly Total (C = A X B) (C)		Price (B)		Yearly Total (C = A X B) (C)		
1	Mast Arm Pole, 20' Galvanized Finish Arm 16" Bolt Circle	Each	10	20	\$	7,294.00	\$	145,880.00	\$	7,774.00	\$	155,480.0	
2	Mast Arm Pole, 25' Galvanized Finish Arm 16" Bolt Circle	Each	10	20	\$	7,307.00	\$	146,140.00	\$	8,169.60	\$	163,392.0	
3	Mast Arm Pole, 30' Galvanized Finish Arm 16" Bolt Circle	Each	10	20	\$	7,807.00	\$	156,140.00	\$	8,805.00	\$	176,100.0	
4	Mast Arm Pole, 35' Galvanized Finish Arm 16" Bolt Circle	Each	8	12	\$	7,820.00	\$	93,840.00	\$	8,960.10	\$	107,521.2	
5	Mast Arm Pole, 35' Galvanized Finish Arm, 17" Bolt Circle arm & 20' Height Shaft	Each	10	12	\$	8,732.00	\$	104,784.00	\$	9,696.00	\$	116,352.0	
6	Mast Arm Pole, Type III 40' Galvanized Finish Arm, 19" Bolt Circle & 20' Height Shaft	Each	8	12	\$	10,419.00	\$	125,028.00	\$	16,558.50	\$	198,702.0	
7	Mast Arm Pole, Type III 48' Galvanized Finish Arm 19" Bolt, Circle & 20' Height Shaft	Each	8	15	\$	12,858.00	\$	192,870.00	\$	41,615.00	\$	624,225.0	
8	Traffic Signal Pole Assembly for Items 1 - 4	Each	10	20	\$	3,250.00	\$	65,000.00	\$	5,625.00	\$	112,500.0	
						Total	\$	1,029,682.00		Total	\$	1,654,272.2	
	OPTION TO EXTEND THE	TERM OF THE AGR	FEMENT		l								
	OF HOW TO EXTEND THE	TERM OF THE AGR	<u>LEMENT</u>										
SIVING	TY AT ITS SOLE DISCRETION, MAY EXERCISE ANY THE CONTRACTOR WRITTEN NOTICE WITHIN TH	E TIME PERIOD NO	TED ON THE SELEC	TED OPTIONS. THE									
TERM OF THIS CONTRACT SHALL BE BASED ON ONE OF THE SELECTIONS BELOW AND UNDER THE SAME TERMS AND CONDITIONS. THE CITY MANAGER OR DESIGNEE MAY EXTEND THE OPTION TO EXTEND.													
	BIDDER OFFERS THE CITY THE OPTION OF E	XTENDING THE TER	RM OF THE CONTRA	CT FOR:									
	TWO (1) ADDITIONAL YEARS	AT THE SAME UNI	T PRICE(S))	(
	NO OPTIO	N OFFERED								х	(
AMENDMENTS ACKNOWLEDGED:							Yes			Yes			

NOTE: The information contained in this bid tabulation is for information only and does not constitute actual award/execution of contract.

Approved by X___/S/__ Date Approved 7/15/2024

2024-0386 Mast Arm Poles Page 1 of 1

	2024-0386 View List							
1.	Immortal Technology Services	NA						
2.	Zeraus Iluminacion	jarquinalex374@gmail.com						
3.	Alejandro Motta (Tri-State Electric)	amotta@tseltd.com						
4.	Tri-State Electric Ltd	afuller@tseltd.com						
5.	The Planit Room	projects@theplanitroom.com						
6.	Delshawn Alfonzo Cruz	kingcruzreally@gmail.com						
7.	Valor GC	GCEPEDA@VALOR-GC.COM						
8.	Alkane Midstream	ar@alkane.co						
9.	Tiger Traffic, Inc.	John.Clay@tigertraffic.net						
10.	Construction Reporter	rebecca@constructionreporter.com						
11.	TECHLINE INC	tom.soltis@techline-inc.com						
12.	Elias Concrete Construction LLC	eliasccllc@gmail.com						